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None of the health insurance  

cost is allocable to the  

children. The cost of the  

children’s health insurance  

is $0. 

Is the cost to  

cover the employee alone  

the same as the cost to cover  

the employee and  

the children? 

yes 

yes 

Is the cost to cover  

dependents a single cost no matter  

how many dependents? 

Formula: 

     total cost for all people covered  

÷   total covered people 

=   incremental cost per person 

×   number of children for whom support is paid 

=   health insurance cost for children 

 

Example:   

Facts:  

Total of 6 people covered.  Includes employee, 

spouse, 1 child not at issue, and 3 children 

for whom support is paid.  Total cost for  

everybody’s health insurance is $900.  

Math:   

     $900 total cost for all people 

÷   6 total people covered 

=   $150 health insurance cost per person  

×   3 children for whom support is paid 

=   $450 health insurance cost for children 

Is evidence of  

per person cost for  

each dependent  

available? 

Are there more  

dependents than just the  

children for whom support is paid?  

(For example, new spouse  

and new children.) 

All of the single cost for dependents 

is allocable to the children for whom  

support is paid. (None of the cost  

to cover the employee is allocable  

to the children.) 

 

Formula:  

     single cost for all dependents  

÷   total number of covered dependents 

=   health insurance cost per dependent 

×   number of children for whom support is paid 

=   health insurance cost for children 

 

Example:  

Facts:  

Total of 6 people covered.  Includes employee, 

spouse, 1 child not at issue, and 3 children for  

whom support is paid.  Single cost for  

dependents (no matter how many) is $300. 

Math:  

     $300 single cost for dependents 

÷   5 covered dependents 

=   $60 health insurance cost per dependent 

×   3 children for whom support is paid 

=   $180 health insurance cost for children 

 

Formula:  

     incremental cost per dependent 

×   number of children for whom support is paid 

=   health insurance cost for children 

yes 

no 

yes 

no 

no 

no 
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